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. WeurereD Aol A 8R L ) Bies | faufed fparsrar 3 "Ry ____ #ea 8l
In a relational schema, each tuple is divided into fields called
(A) R / Relations

(B) SIA18/ Domains
(C) &9 / Queries
(D) SRIad & ®Is 781 / None of these

. T 2x + 3y =5xy, Ol (dy/dx) Sarsq
Let 2x + 3y =5xy, Find (dy/dx)
(A)(3-5x)/(5y-2)

(B) ( 2+3)/5

(€) (2-5y)/(5x-3)

(D}5/(2+3)

. WIUCHER faST &1 UYH RO B 91 87

Which one is first phase of software development?
(A) SHEazaHdr f[a%edyor / Requirement analysis

(B) f&%1g / Design _

(C) ®1f&7 / Coding

(D) wigrr / Testing

. fiftpaa *+ab-cd & URefhed 9 8

The postfix equivalent of the prefix *+ab-cd is
(A)abt+cd-*

(B) abed+-*

(C) ab+ed*-

(D) ab+-cd*

. To-aor enfeb & forg Frafef@a o wraet 82

Which of the following is true for two-phase locking?
(A) fafta w=or & @@ Wikt / Lock acquisition is the second phase

(B) @l & fpelt ot e <ifSia fasar &1 9awar § 7 Locks can be acquired at any time
(C) wuH =Rl 7 @l &1 ifdfa farar omar 8 / Locks are acquired in the first phase
(D)auffaa H %1% 78] / None of the above

. Off qeite o smavae gernell Bt sraxadant 78 B

The searching technique in which there are no unnecessary comparisons is called.
(A) g3t T/ Binary searching |

(B) SR Ikt / Sequential searching

(C) §fXi7T / Hashing

(D)3 & § HFE 781 / None of these
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7. quiarant quT degdier Haet B e % Ry, SeTR STifd 18 §
The most commonly used code to represent alphabets and punctuation characters is
(A)BCD
. (B) ASCII
(C)EBCDII
(D)SWia H ¥ H 761 / None of the above

8. Foffead o 9 F T 751 87
Which of the following is not the member of class?
(A) Tifde H1t / Static function
(B) iz w1 / Friend function
(C) fari® &1 / Const function
(D) 3myrft i/ Virtual function

9, THAS A=0011 0101 1001 1100 PT 2’s HifGHe FT 87
What is the 2°s complement of this word, A= 0011 0101 1001 1100
(A) 1100 1010 1110 0100
(B) 1100 1011 0110 0100
(C) 1100 1010 0110 0100
(D) 1100 1000 0110 0100

10. VoIP 7 314 §
VoIP stands for
(A) &I?R@H WD UR A1GT / Voice over Intematmnal Protocol
(B) $c3iT UICIdId U= ST / Voice over Internet Protocol
(C) 3iRIFT Uieisia IR 4ifSdl / Video over International Protocol
(D) Fe3e Wiersia | 9IS/ Video over Internet Protocol

11, 3efiaRor & SR

During validation

(A) U1 1 iTd B ST § / Process is checked

(B) SIS B Sig $1 &RA § / Product is checked

(C) gam ¥ P &1 geaie fan o § / Developer’s performance is evaluated
(D) S5 & @18 81/ None of the above

12. 9§ 3T “In —s™ HHIS BT STANT B ©, Fafefea # = grar 87
When you use the “In —s” command, which of the following oceurs?
(A)WWWW@HT%G’IWW@’IW%
A file is created that points to an existing file
(B) & PISd &1 o Bral ¢ Sl JaH Brsd o1 ufaiaift grit
- Afile is created that is a copy of an existing file
(C) T &I T o VI IR HI5d RIFANT ol g
A file is moved from one location to another
(D) WT5e B g =i o S g1

A file is renanded
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13.

14.

15.

16.

17.
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Sfaenfspar §uR

Interprocess communication

(A) BT 3aRge T8l / is never necessary '

(B) wfseradl &Y GresIer Hrar § / allows processes to synchlomze

(C) Tl ulshansii & ferg sia=yge / is required for all processes

(D) {&%p gred gRT WHIG: {51 S § / is usually done via disk drives

fepgraes & WretH 71 87
In cryptography, what is cipher?
(A) TR quT e o g sramied
Algorithm for performing encryption and decryption
(B) TAHYS TR / Encrypted message
(C) (a) auT (b) <1 / Both (a) and (b) -
(D) SR ¥ $1 7181 / None of the mentioned

FraaE I $ Yoo ¥, v aur ufifraneait Sar weETe wuel &1 A 82

What is the name of the operating system that reads and reacts/responds in terms of
actual time? -

(A) §9 YumTell / Batch system

(B) g¥d ufdfesa womel 7 Quick response system

(C) Irafd® ®Tet Womal / Real time system

(D) 13| AT yonieht / Time sharing system |

il HISYed, aria® w0 9 EEGRE
By default, kernel modules are present in

(A) /lib S8l / /lib directory

(B) /root S8R / froot directory

(C) /boot BEXEE / /boot directory

(D) IR H P15 781 /-None of the mentioned

frfefaa & gl w g?

" Which of the following is correct?

(A) SQL &8 wa: gfRide &) gerr 8/ An SQL query automatically eliminates duplicates
(B) 3fg fram ox s A § a1 SQL S s Adf o -

An SQL query will not work if there are no indexes on the relations
(C) SQL T4 iz & 7 & RIghy 1 S 31

‘SQL permits attribute names to be repeated in the same relation

(D)SWRIE H BT 781 / None of the above
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18, iR ST Siemd 7 S1S-eqe R 37
“What is the output of the following Java program?
class StringTest {

public static void main(String args[])
{ String obj = "hello”;
String objl = "world";
String 0bj2 = "hello”;
System. out. printin(obj. equals(obj] ) + """+ obj.equals(obi2));

(A) Picy BT / false false
(B) ¥ % / true true

(C) Bra g / false true

(D) T W / true false

19. C U & SEAagds THT U FETer MO Bl aToe ST &1 96! 759 31 &
 What is the correct value to return to the operating system upon the successful
completion of a C program?
Al
B)-1
G0
(D) FrisH TF ST a9 Tgl BT/ Program does not return a value.

20. P-TrRy YridSaer &1 o g
P-type semiconductor means
(A) ST Y aiftiepar aur Yefidreder Mururd 3
Excess of electrons and semiconductor is neutral
(B) 3aaell & wift qur YfiFsaeR Fwv g
Shortage of electrons and semiconductor is neutral
(C) AT BT AFHAT T IHH ST BUTHD
Excess of electrons and semiconductor is negatwe
(D) FARCH DI HH TUT JHH SR YTHS

Shortage of electrons and semiconductor is positive

21. OOPS & o It Hif 1 ord & UIew 31 bawt sae Y1 &1?
Which of the following concepts of OOPS means exposing only necessary information to
client?
(A) ST HTEaw / Encryption of data
~ (B) ¥eraEfET / Data binding
(C) €1 873181 / Data hiding
(D) 3wied & 315 781 / None of the mentioned

Page 50f 14




22,

Question Booklet Series - A

XML TN Bl §

XML uses

(A) T FeiRa 21/ User defined tags
(B) yd-fyifxa &1/ Pre-defined tags

- (C) yd-fFuffea 3 weiiear fyffed & €t/ Both pre-defined and user-defined tags

23,

24,

25.

26.

(D) HTML ¥ SUde v 277 a2 S8 1w THIEriell §1aT &1/ Extended tags used in
HTML and makes them powerful

e Tlaror 3 R Rt 3 omavam SNavRs s B FEI &)
The overhead code required to be written for unit testing is called

(A) §Iga/ Drivers
(B) =4/ Stubs

(C) WTHIfeET / Scaffolding
(D) SR # H1% e / None of the above

FDDI &1 34 8

FDDI is .

(A) FoT9eg® / Ring network

(B) ¥R 9¢d% / Star network

(C) B=1 ead / Mesh network

(D) S 31TRT “€a / Bus based network

T 3224 HUER 3 ¢ o) a9 e 5o ¥ oAfHT Suan & R s fpar s
EHT B .
General purpose computers are those that can be adopted to countless uses simply by
changing its

(AY® 9 / Keyboard

(B) oy Printer

(C) W / Program

(D)ve=f %17 / Display Screen

PIET BT U BT UTL B
An important aspect in coding is
(A) goHTar / Readability
(B) Sctaen / Productivity
(C) YYrEYF BTt ATR! WY &1 STaRT HIAT
To use as small memory space as possible

(D) sfafe / Brevity
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27. Pafifd § & givasa Tc @) gxit|
Find Universal gate from below
(A)AND
(B) NAND
(C) NOT
(D) Ex-OR

28. frafiea & & o area w8 87
Which of the following statement is correct? ‘
(A) T 3 1 Hwon % wHy ol o1 gerat s g
A constructor is called at the time of declaration of an object.
(B) T 9% I SUGNT Hq 09 UF {wforasd ) geirdr S 51
A constructor is called at the time of use of an object.
(C) i &) Bron % To T Fmivmal 1 e S 8|
A constructor is called at the time of declaration of a class.
(D) @t & SuhNT & THY U Fwforesal g S |

A constructor is called at the time of use of a class.

29, FaEC-EIES Wil fpp % ury Fuffea 7 3 o) T8t 97w S Yebar 87
Which of the following can't be done with client-side JavaScript?
(A) T B BT JfiFR0T/ Validating a form
(B) £-Tet g1 wref ¥ fawasg ®1 9o/ Sending a form's contents by email
(C) TR IR BT Pt fawaasg &7 Sered Bred H Heid #T
Storing the form's contents to a database file on the server

(D) SR § ¥ $1g g1 / None of the above

30. gex3e URL # 217 daa Sre (TLD) ‘org’ T Al e 82
What does the term top level domain (TLD) ‘org’ represent in Internet URL?
(A) Y H& / Profit Organization
(B) R @14 716+ / Nonprofit Organization
(C) g™ / Community
(D) &N Y137 / Government Organization

31. /root ARAAE =0 J T 37
By defanlt, what is /root?
(A) ¥ w13 R / root file system
(B) &< goR & 519 S15¥acdl / home directory of the root user
(C) ¥t srvaed Forad wraRned & Jul sreeed §

the directory which contains all the directories of the file system

(D) SRFT H PS8!/ None of the mentioned
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32. SJF sremiiyy

The SJF algorithm

(A) T T 9a9 Ne oMU ST ) Ugd Sl 8l
Executes first the job that last entered the queue

(B) & & Fa% U5 MU b1 &) U5at B3l o
Executes first the job that first entered the queue

(C) afr o Sarfepr sima=amarell & Y 1 &7 Ugd Har gl
Executes first the job with the least processor needs

(D)&g H aifay e 1@ o1 ®F ugd HRar ¢ :

Execultes first the job that has been in the queue the longest

33. Wierar weo R T S g
Acceptance testing is done by
(A) ST / Developers
(B) y&iadr / Customers
(C) uReorb / Testers
(D) SWRiad w4t/ All of these

34, TR AT
In a transistor emitter is N
(A) (i Sy fosar 7ar / Heavily doped
(B) ¥4 11 T a1 / Lightly doped
(C) ST gt fawar mar / Not doped
(D) TR ¥7 J 819 o1 771 / Moderately doped

35, 99 BieH f” 1Ry & 9 Fea § 99 99 W Sel | g7
What is the energy possessed by a photon while it moves with a frequency ‘f*?
(A)E=th '
(B)E=hf
(C) E=h/f
(DYE=1/(h 1)

36. eadh 1 Hifdew wa §
The physical layer of a network
(A) PR YT YR Gy & dg § uila Savd] & 3afdema siftiasr
Defines the electrical characteristics of signals passed between the computer and

communication déevices
(B) Ffe T a1 S F1 AT 7 Controls error detection and correction
(C) 3e1 ¥Fe! &1 it e Head T ARUR Aeiar g

Constructs packets of data and sends the across the network

(D) SRITd | ﬁ‘sf :lﬁ / None of these
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37. wga e XA & R e wmifs &1 9o v §7
Which command is used to print a file
(A) T / print
(B) ptr
(C) lpr
(D) IR H ®18 81 / None of the above

38. T Iam ey Eaikuty
A good specification should be
(A) srdf¢™ / Unambiguous
(B) WE w0 ¥ faffdy / Distinctly specific
(C) w/i@E® [ Functional
(D) SwRiad H &5 7181 / None of these

39. Fafuf@d PHP IS &1 3y 1 §IT?
What will be the output of the foIlowmg PHP code?
<?php
$a=35;
$b=5;
echo ($a ===8b) ;
7>
A)5===35
B)1
C) Error
D) False

40, Brfars T B $8d B
Functional testing is known as
(A) T¥gIHP T80T / Structural testing
(B) 3iTeRONES Ua0T / Behavioural testing
(C) wferTe wdigin / Regression testing
(D) SWied 7 315 761 / None of the above

41. <tr>,<id> and <th> H R g SR T
Main container for <tr>,<td> and <th> is
(A)<group>
(B) <data>
(C) <table>
(DYl / All of these

42, IEIER SO 3T T Se%4 §
Software engineering primarily aims on
(A) fywila Ieedar / Reliable software
(B) @RTd WyTdt IRAER / Cost effective software
(C) TP qur Tl TTdl WIeedRR / Reliable and cost effective software

(D) SuRred ¥ g 781 / None of these
' Page 9 of 14
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fore o ® fowy gArFar §
Find which word has odd parity
(A)1111 0011 0100 1101 1100

(B)1111 0110 1101 1011 1001 -
(C) 1110 1011 0110 1101 1000

- (D) 11100011 0110 1101 1000

44.

45.

46.

47.

ST ST s A Praffed H Gy adis § T 3 dor, fHmion gur gee sd 22
Which will legally declare, construct, and initialize an array in Java programming
language? '

{A) int myList {] = {5, 1, 9};

(B) int [} mYLiSt — {ngn’ ||37u’ 1!11;};

(C) int [] myList=(4, 3, 2);

(D) int myList [] [] = {2,1,6,0};

SR GRIPRR & IR & Fafafed 3 § 919 91 are g8 82
Which statement is correct about operational amplifier?
(A)3GH 3 YT UORYY T IoF ey ueriy g

It has high input resistance and high output resistance
(B) 34 9 g1ge ufakry qut 39 sigeye ufeRiy 8

It has low input resistance and low output resistance
(C) 39% 3= 371ge uferiy aur 7 argeye ufadiy §

It has high input resistance and low output resistance
(D) 39% 7 T7Ye vfekiy qur 9= edeye Wiy &

It has low input resistance and high output resistance

frafaRed gadi & fae of g o &

The most appropriate matching for the following pairs:

X : eiugel day / Indirect addressing 1./ Loop

Y : aapTd Y / Immediate addressing 2. uiRiex / Pointers

7. : ey 1$fb AT T / Auto decrement addressing 3. f&R7® / Constants

(A)X-3, Y-2, Z-1
(B)X-1,Y-3,Z-2
(C)X-2,Y-3,7-1
(D)X-3.Y-1,Z-2

9 q T9Y I 2T TR el @i |t 87
Which is the fastest data transfer mechanism ?
(A) IIfT /O / Programmed VO

(B) 3 I/O / Interrupt /O

(C) DMA |

(D) SWRYad § ®1s 78! / None of these
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50.

51.

52.
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UNIX e qoret
UNIX operating system

(A) AieegsR / is multiuser |

(B) HfeceiRb/ is multitasking

(C) PC T 5t YOIl R IR S §hal & / can run on PC’s and larger system
(D) SR T+t 7 All of these

256Kb % HHRY & 37 Iuas FRH F 0 fha 32k x 1 RAM R &1 srawgerar §7
How many 32k x 1 RAM ChlpS are needed to provide a memory capacity of 256kB?
(A)8

(B)32

(C) 64

(D) 128

WPAzﬁﬁz&n%E,r ﬁwmw%
WPAZ2 is used for security in

(A) $URT / Ethernet

(B) =Jg¥ / Bluetooth

(C) 3-% / Wi-fi

(D) STRiTd 8 $15 a1 / None of the mentioned

Soffrma QU

The data-link layer is concerned with the

(A) fae 9090 S / Bit transmission function

(B) Ud%e HUWuI B / Packet transmission function |
(C) O: - 9T 3T / Re-transmission delay

(D) $¢1 &1 @@ / Encryption of data

TRFMRER &, o o R e e oroar | A Ra R wmar g

In a microprocessor, the address of the next instruction to be executed, is stored in
(A) ¥ UIfticy / Stack pointer

(B) T$9 @9 / Address latch

~ (C) UTumM BT / Program counter

53.

(D) W IR RReR / General purpose register

Wmﬁwwﬁwm%aqw%w%aﬁﬁﬂaﬁhwaaﬁqﬁﬁaéﬁw
T s 87

Which of these keywords is used to refer to member of base class from a sub class in Java
programming language?

(A) 3o [ upper

(B) g / super

(C) fa= / this

(D) S9Fd § ¥ B 781 / None of the mentioned
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54. TN GG 2479 BT §FAS AT TAFIS FAgy?
Find hexadectmal equivalent of decimal number 24797
(A)9AF
(B)FA9
(C)8BA
(D)Y98A

55. S e ue fomy g & fored
A data dictionary is a special file that contains
(A) 9} wrgell # 9t Wita! &1 =1 / Names of all fields in all files
(B) M wrEdl ¥ @l wies! & Sier egu/ Data types of all fields in all files
(C) Tt wrgat # it B! 9 9ISTS / Widths of all fileds in all files
(D) SWIed ¥4/ All of these

56. C denfei v & fafaf@a § ¥ o9 w1 v b aiad i ey & 711 87
Which of the following is not a correct variable type in C programming language?
(A)wie / float
(B) fraa / real
(C)ge/int
(D)S«d / double

57. HTML 27 fReffied ova §

HTML tags define
(A)TETAT & €T <RY & ol 1/ The data types of elements of document

| (B) T g 1 fAfAfEY Tl &7 wgdl®sRur/ Presentation of specified elements of a

document

(C) &%a1aw & fquga¥ / The contents of the document
(D) ZMaH & I3 / The structure of the document

58. Wi Afe W E
Sparse matrices have
(A) 3% I Tfaf¥dl / Many zero entries
(B) 3@ 3-8 9faf¥al / Many non-zero entries
(C) S=rR STH / Higher dimension
(D)W & § B1S 181 / None of the above
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59, 9 3G YW & A1 B A1 i uRTY S Sy aa 87

60.

Which logic circuit gives high output when the inputs are same?
(A) AND

(B) Ex-OR .

(C) NAND

(D) Ex-NOR

C ¥ PraffEd feu & fharaed & o S R S H 9o & axifar Sme?
What number would be shown on the screen after the following statements of C are
executed?

char ch;
int i;
ch="G";
i=ch-'A";
printf("%d", i),
(A)S
(B)6
(C)7
D)8
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usii &1 G&AT / No. of questions 60
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No. of pages in the booklet {including cover page)

- et & fom G@Wﬂﬂstrueﬂﬂﬂsto the Candidates

1. TgvwE, TR & eu T g1 i el o geaie wued) wdl ol g

The question paper is in the form of test booklet. All candidates will be assessed on identical questions.

2. OMR ¥t R Rar ) vnrgde afdui oMR Dz @ O R 3 Il 3 [Iga $ & R Saa st g San (@rer ol
tem 4 &1 ferdl
Read the instructions on the OMR sheet carefully. Use only Ball Point Pen {Black or Blue) for writing/ shading/ bubble on OMR
sheet and marking your answers.

3. g% e, @l wenRdl @) wrE SERE s e OMR IO dite fa s ommﬂt%sﬁﬁmﬁgﬂmﬁﬁﬂwm
et eep Gt Y i SmeT

A separate OMR answer sheet with carbon impression is provided to all the candidates for answering. On cempletion of the
test tear the OMR Answer sheet along the peiforation mark at the top and handover the original OMR answer sheet {o the

invigilator and retain this duplicate copy with you.

4, mﬁwwwé?mﬁweﬁwmmﬁ%ﬁwsﬁﬁésmﬁwmm, (B), (C} 3% (D) & ary F R s A
e T B WG I

Each objective question is provided with a text and/or figures wherever applicable with multiple answer choices (A}, {B), (C)
and (D). Only one of them is correct.

5. Wi IXAY UPR B Wi % 9aH 3l §) TE S & e di sip, ST T R O 9 e SRR & 1o ue s gel s

Bl wer 3 o 9 TR S TIed ST T I
All ohjective type questions carry equal marks of THREE for a correct answer, ZERO for no answer and MINUS ONE for wiong

answer. Multiple answers for a question will be regarded as a wrong answer.

6. TN IR P IR R FRI BN WATMBACHD ﬁfﬁfﬁﬁmw%ﬂ@romaﬂem,%@mmﬁﬁma{ﬁaﬁ
21 A9 7 B W, STR-GRRIBT 1 e el a1 S|

Question booklets have been marked with A or B or C or D on the right hand top corner, which is mandatory to be written on
the OMR sheet in the box and bubble appropriately, failing which, the answer sheet will not be evaluated.

7. R H Suwe! S B &W%Waﬁm$mmmﬁimé| orerT % e =Y R st

Space available in the booklet could be used for rough work, if required. No separate sheet will be provided.

8. %@ﬁﬁﬁwﬁzwmmmﬁ%ua@nuﬁ&nﬁfﬁw@;ﬁmﬂawgﬁmaﬁsﬁwmmﬁMﬁmw%Wﬁm&?
I

Before signing the attendance sheet, the candidate should write the Booklet Code in the attendance sheet. Candidates should
sign against THEIR names only.

9. et ¥ oid # (1) Pro) ok Rifda gl wTd et (2) T9 OMR SW e 3R (3) vy uF, e ®f a1 o g1 el o

ufefRufy 7 S wllemdf grT sTeR 79 @ il =rgul
' At the end of the test (1) Written test Call Letters(s) with photograph pasted on it (2} Original OMR Answer Sheet and
(3) Question Paper shall be returned to the vigilator and shall not be carried by the candidate under any

circumstances.
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1. Tflea o 9 &F 569 & gaw ¢ 32

Which of the following is not the member of class?
(A) ®WR® ®1 / Static function

(B) i B/ Friend function

(C) RRf® ST 1 Const function

(D) muRft H1f /7 Virtual function

. frofifa § v w32
- Which of the following is correct?
(A) SQL & wq: giwidre ®1 gemr g/ An SQL query automatlcally eliminates duphcates
(B) uf R R §37 71 8 df SQL 8 oot 7 em
: An SQL query will not work if there are no indexes on the relatlons
(C) SQL 34 e & 91 & PrRighy & erafy dar §
SQL permits attribute names to be repeated in the same relation

(D)W # I 7181 / None of the above

. FDDI T 3ef 8

FDDI is

(A) Rr9ead 1 Ring network

(B) ¥R ~cds / Star network

(C) 9% 7ead / Mesh network

- (D) 99 3 Aegd / Bus based network

. ﬁeﬁmﬁﬁwm%-

The physical layer of a network
(A)Wamwmwfﬁaﬂaﬁmﬁam%ﬁ%a iU
Defines the electrical characteristics of signals passed between the computer and
communication devices
(B) A& Hya aur 9fg &1 8301/ Controls error detection and correction
(C) S tPpel & AU $3 Aead & HRUR Nodi &
Constructs packets of data and sends the across the network

(D) SuRiad § B1E 76T / None of these

. O[9 374 THM & o B o wifoie aluy 3= 8i$eye darg?
Which logic circuit gives high output when the inputs are same?
(A) AND

(B) Ex-OR

(C)NAND

(D) Ex-NOR
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10.

11.

Question Booklet Series - B

ST TG 2479 P RIS A YHMHID FAR?

Find hexadecimal equivalent of decimal number 24797
(A)9AF :

(B)FAS

(C)8BA

(D)98A

Sifar Sy yTe A O T ¥ 3 iy & gaw P ar § YRl $ 3 6 I F1-a8 BT IuRT
fpmeae? \ ‘

Which of these keywords is used to refer to member of base class from a sub class in Java
programming language?

(A) 3R [ upper

(B) R / super

(C) fa= / this

(D) Swiad # § 31 761 / None of the mentioned

fop s F fowe T §

Find which word has odd parity
(A)1111 0011 0100 1101 1100
(B)1111-0110 1101 1011 1001
(C)1110 1011 0110 1101 1000
(D) 1110 0011 0110 1101 1000

UNIX e Hore!
UNIX operating system

(A) AfeegsR / is multiuser

(B) AfeeerfanT/ is multitasking

(C) PC qu1 931 TUITRR UR =il ST qepell &/ can run on PC’s and larger system
(D) SWRIa Tt/ All of these

wrg Afeaq 7 §

Sparse matrices have

(A) 3 I WiAPET/ Many zero entries

(B) e -1 Hfafddl / Many non-zero entries
(C) F=aa¥ 3/ / Higher dimension

(D)SWRIF B ¥ ®15 781 / None of the above

C Wi vret 3 Frafef@a 3 3 o a vw 8t ulad= ersd 3 =6 87

Which of the following is not a correct variable type in C programming language?
(A)TAE / float

(B) Fa@ / real

(C)$e/int

(D)ssd/ double
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12.

13.

14.

15.

16.

Question Booklet Series - B

SiTat AT e iR § 9y e S @ @ dwon, Fafor g geerng s g2
Which will legally declare, construct, and initialize an array in Java programming
language?

(A) int myList [] = {5, 1, 9};

(B) int [] mYLISt = {"8", !!7n= nln};,

(C) int [] myList= (4, 3, 2);
(D) int myList [] [] = {2,1,6,0};

Fallg-e-uTgs Gidl fEepp & Ay Py 7 3 feue! 78t «rn o wpar 82
Which of the following can't be done with client-side JavaScript?
(A) U Brf o1 afieRur / Validating a form
(B) 3-Ha gR1 B & fawgasg & 9541/ Sending a form's contents by email
(C) TR R i & fawgasg #1 Seay wrRd § Yeid s

Storing the form's contents to a database file on the server

(D) W § ¥ ®1E &l / None of the above
P-e1gu Sl gaes &l o §

P-type semiconductor means
(A) 5T o siftimdr aur At ey Fruyrd 2

Excess of electrons and semiconductor is neutral
(B) SuaciHi o HHl qur IHfbeae: oy &

Shortage of electrons and semiconductor is neutral
(C) SEFRH @1 fAHT quT YHibSae HUTHD

Excess of electrons and semiconductor is negative
(D) AR DI B 9UT JHH SR 4TS :

Shortage of electrons and semiconductor is positive

grEfas gag & dad 1, Yar aur niifraysmfear eaar TTe o BT S 82

What is the name of the operating system that reads and reacts/responds in terms of
acfual time?

(A) ¥4 YUttt / Batch system

(B) g¥a widfsran qunett / Quick response system

(C) arifdes sTe Wonedt / Real time system

(D) er5H R UOMel! / Time sharing system

T IR ek § § e ad S o O SR Iuam & o arggad fear s
REZIRC |

General purpose computers are those that can be adopted to countless uses simply by
changing its

(AP dS / Keyboard

(B) e / Printer

(C) R / Program

(D)W=l W / Display Screen
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17. SIF 3feliRyH
The SJF algorithm
(AT H g T 1T P Ugd A gl

Executes first the job that last entered the queue

(B) o H W& URS 1T BRI 1 U Dl o
Executes first the job that first entered the queue

(C) 3ifa 1 T HaRaH Tl & T BT &7 U6 Heal 31
Executes first the job with the least processor needs

Dy H sfa i @ e H g FRaATRI

Executes first the job that has been in the queue the longest

18. 3ifoeTe tfRreeR & IR § Pofifed § ¥ o 1 e 96l 87
Which statement is correct about operational amplifier?
(A) I I YL TR T I eiTeeye iRy 8

It has high input resistance and high output resistance
(B) 3 3 5eige TieRre qut i airgeye ufekiy 8

It has low input resistance and low output resistance
(C) S S gy wickiy quT g engeye uiRiy §

It has high input resistance and low output resistance
(D)3g8 g geige ufedy aur 3= eiidheye ulady §

- It has low input resistance and high output resistance

19. WPA2 ] Y&l 3 # AT fépar SiTer B
WPA2 is used for security in
(A) Y3 / Ethernet
(B) &g / Bluetooth
(C) 3-% 7 Wi-fi _
(D) 3uRiad § B 81 / None of the mentioned

20, C ¥ PR Rravor 3 Rt ¥ o1 S TR P 9 Few P awiar s

What number would be shown on the séreen after the following statements of Care

executed?
char ch;
int 1;
ch="'G",
i=ch-'A";
printf("%d", 1);
(A)S
(B)o6
(O)7
D)8
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frafefad gt & few afa wgfd &is @

The most appropriate matching for the following pairs:

X : afuces Galeq / Indirect addressing l.qa/ Loop

Y : GebTd "areq / Immediate addressing 2. UIRieR / Pointers

7, ; +rcy 3forte 9l / Auto decrement addressing 3. fRi% / Constants

(A)X-3,Y-2, Z-1
(B) X-1,Y-3,2-2
(C)X-2,Y-3,7-1

(D)X-3,Y-1,2-2

22.

23.

24,

$e¥e URL & efu Saa S (TLD) ‘org’ T faffirg e 89

What does the term top level domain (TLD) ‘org’ represent in Internet URL?
(A) WY TS/ Profit Organization

(B) TR &Y GWa+1 / Nonprofit Organization

(C) 9a™ / Community

(D) §¥pI} W18 / Government Organization

OOPS & ®IF At - F1 o2l § IR B Hadt HTIH I 17

Which of the following concepts of OOPS means exposing only necessary information to
client?

(A) SCIHT G / Encryption of data

(B) Sc19EIST / Data binding

(C) er 87317 / Data hiding

(D) SWRIad H I3 61 / None of the mentioned

mm“ln—s”mmsﬂnaﬂﬁﬁﬁaﬁ@ﬁﬁw@m%?

When you use the “In —s” command, which of the following occurs?

_(A) 7@ BIEa &1 go &1 § Sl adiH bR Hr g

A file is created that points to an existing file

-(B) U B30 &1 golH Bia1 8 S gur wiga o ufafaify grft

Afile is created that is a copy of an existing file
(C) U UM ¥ R | R BIEd |HARd gl 71
A file is moved from one location to another

(D) BISd & T A1y v s g

A file is renamed

25. G Tior § gR o & wies # Ry fear smar 8 ’dy HEd 6!

In a relational schema, each tuple is divided into fields called
(A) Rei=rF / Relations

(B) SIS / Domains

(C) 9 / Queries

(D) Swiad H ®1E 716l / None of these
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26. guitTet guT Uaie $Higcy @I 3R & i sk Iwiie $1s 8
The most commonly used code to represent alphabets and punctuation characters is
(A)BCD
(B) ASCII
(C)EBCDII
(D) 3WRIad ¥ I Bis 151 / None of the above

27.3918 2x + 3y =5xy, @ (dy/dx) Sd15¢
Let 2x + 3y =5xy, Find (dy/dx)
(A) (3-5x)/(Sy-2)

(B)(2+3)/5
(C) (2-5y)/(5x-3)
(D) 5/(2+3)

28. AfaRUT F GRA
During vahdation

(A) Wi o1 wife 1 WKl § / Process is chocked

(B) IS &t Wird @1 Sk § / Product is checked

(C) Saaw & Fs1gT o7 Feaias= {521 S © / Developer’s performance is evaluated
(D) IRl | %15 78! / None of the above

29. FApffRd ST o &7 sireheye T 82
What is the output of the following Java pro gram?
class StringTest {

public static void main(String args{])
{
String obj = "hello";
String objl = "world";
String 0bj2 = "hello™;
""" System. ouf. prim"lﬁ(o'bj. equals(objl) + " " + o'bj. equals(obi2)); =
}

(A) BT BT / false false
(B) S § / true true

(C) BT § / false true

(D) S WY / true false
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30. HIFET B1 Tb TBI UgL &
An important aspect in coding is
(A) Yo-itadi / Readability
(B) Sa@readr / Productivity
(C) gy Bier AUR] WY &7 STHRT HAT
To use as small memory space as possible

(D) sfafe / Brevity
3. gRFeR A oamie &

In a transistor emitter is

(A) offdep s1q fpar a1 / Heavily doped

(B) @4 S1Y a1 711 / Lightly doped

(C) Sy 8! fopar 71 / Not doped

(D) 9IYRUI &4 ¥ 1Y f&a1 TR1 / Moderately doped

32, WedR ToFRfa o1 ger 3T ¥
Software engineering primarily aims on
(A) fasarg AieaTR [ Reliable software
(B) ST WHTE! F1UEaaR / Cost effective software
- (C) TasrgiadT quT rTd UM WU / Reliable and cost effective software

(D) IWidd H ®Is 75t / None of these
33, froot GREIY® &0 RT 87

By default, what is /root?

(A) =T hiEd R / root file system

(B) ¢ goR & 819 S18¥aest / home directory of the root user
(C) U Sgvaes) forud wEaines & mif spteedt §

the directory which contains all the directories of the file system

(D) SRI § &I 781/ None of the mentioned
34, fg-georenfdnr & fe Fofafeg s arag g2

Which of the following is true for two-phase locking?
(A) fgela aRor ¥ @i Wit / Lock acquisition is the second phase

(B) @i® @ fodlt ot g a1fSfa far s wdar § 7 Locks can be acquired at any time
(C) w9l H oliep &) offSla far smar g / Locks are acquned in the first phase
(D)3 § $I% 781 / None of the above

35, e A, AKIah ©U g ﬁq—s%r%
By default, kernel modules are present in
(A) /lib STe¥Eest / /lib directory
(B) /root SI5¥FR / /root directory

(C) /boot BRI / /boot directory
(D) Wi # @15 761 / None of the mentioned
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37.

38.

39.

40.

41.
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QI dTR [es 1 T TuT =0 &4 91 87

‘Which one is first phase of software development?

(A) SagH e [d%dw0T / Requirement analysis
(B) f&uirg / Design
(C) @& / Coding
(D) wsteur / Testing

frofefaa 7 3 giada e of ga)
Find Universal gate from below
(A)AND

(B) NAND -

(C) NOT

(D) Ex-OR

T 3a fafder ERUEIRY]

A good specification should be

(A) 3fe™ / Unambiguons

(B) W w4 § fafAfés / Distinctly specific
(C) @@ / Functional ,

(D) 3w # &15 781 / None of these

256Kb P HARY &1 I JuTS P & 1o e 32k x 1 RAM R0 31 sa=adsar 87
How many 32k x 1 RAM chips are needed to provide a memory capacity of 256kB?
(A)8 '

(B)32

(C) 64

(D) 128

HTML & (e wea &

HTML tags define
(A) SIS & $2T €15 & ol @1/ The data types of elements of document

(B) t& gxarg o1 fafféy ol &1 wedfi®<ur / Presentation of specified elements of a
document

(C) TR % f@wuax] / The contents of the document
(D) geqrasl &l 9eg-T / The structure of the document

<tr>,<td> and <th> & R g@I FeR e
Main container for <tr>,<td> and <th> is
(A)<group>

(B) <data>

(C) <table>

(D)THl 7 All of these
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42.

43.

44.

46.

& & e e Ser e Yol o Ot 8o
Which is the fastest data transfer mechanism ?
(A) WG 1/0 / Programmed 1/O

(B) $e3¥ I/O / Interrupt /O

(C) DMA

(D) 3WRiad & Pl a1 / None of these

SEARRIR N g fopan ST 8|
Acceptance testing is done by

(A) STA / Developers

(B) W& / Customers

(C) ufkerorpaf / Testers

(D) IuRlad g1/ All of these

e fearll v vy e © fore

A data dictionary is a special file that contains

Question Booklet Series - B

(A) G wgal § 9t wies! o1 99 / Names of all fields in all files
(B) T4t mrgel © ol wiesi & SICI ™Y / Data types of all fields in all files
(C) T} wrgal & gt Wit ot Deis / Widths of all fileds in all files

(D) IwRiad gt / All of these

745.'61@’@'617[ “f* egfr & Te BT § 99 ITH el Sl o g7

What is the energy possessed by a photon while it moves with a frequency ‘f*?

(A)E=1f/h
(B)E=h f
(C) E=h/f
D) E=1/(h 1) .

oREwa___ dudfm g
The data-link layer is concerned with the
(A) fore T0wor SR / Bit transmission function

(B) 9T d0yur %1 / Packet transmission function
(C) T - Iuw faeid / Re-transmission delay

(D) $e1 %1 g / Encryption of data
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47, FafafET § 1 91 a1 98t 87
Which of the following statement is correct?
(A)TE 9% ! 9ron & gag Faforedal o garr g
A constructor is called at the time of declaration of an object.
(B) T g T SUNT 7 9 G Rnforepeft b7 germ S &
A constructor is called at the time of use of an object.
(C) 97 & run % ww G FHfured @) garr s g
A constructor is called at the time of declaration of a class.
(D) & & IuANT & T Ve FHwiorepal Sarr S 31

A constructor is called at the time of use of a class.

43. Frafafad PHP 18 $7 $iig:cqc 1 g1 |
What will be the output of the following PHP code?

< ?php
Sa=235;
$b=5;
echo ($a === 3b) ;
7>
A) 5 ===
B)1
C) Error
D) False

49, XML 39aRT e §
XML uses
(A) wavaT (uifa ¢/ User defined tags
'(B) gd-Meifka ¢/ Pre-defined tags
(C) gd-Frefffe a i Fefifa 31 €M1/ Both pre-defined and user-defined tags
(D) HTML ¥ Sogad faegd < aur 37 e gyrasmel st 81/ Extended tags used in
HTML and makes them powerful

50. B1ed fire F3 & o g FHwie &1 S Hd 87
‘Which command is used to print a file
(A) U= / print
(B) ptr
(C) lpr
(D) IR & BT gl / None of the above

51. sieRuferar R
Interprocess communication
(A) PHI STIRTD Gt / is never necessary
(B) wfsrarsit &1 Twaierd @il 8 / allows processes o synchronize
(C) i wftharali & foIu efa=a® / is required for all processes
(D) f&%% S15d gR1 9H=Ia: a1 S| 8 / is usually done via disk drives
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52. Topgiomes & WrgwR a1 87
' In cryptography, what is cipher? :
(A) TARB qUT fSIb T B 8 Sieiiiveny
Algorithm for performing encryption and decryption
(B) wAlhVs HamT/ Encrypted message
(C).(a) 7UT (b) &1 / Both (a) and (b)
(D) IRIad § o515 981/ None of the mentioned

53, TSP IURRR H, oM orgew R erffag o & o1 H ufya fm onar g
In a microprocessor, the address of the next instruction to be executed, is stored in
(A) ¥& uiffex / Stack pointer
(B) TS9 & / Address latch
(C) WU ®1%h< / Program counter
(D) "HI 3E=T 3MoReR / General purpose register

54. wrafers Them B FEd §
Functional testing is known as
(A) YaTHE wiar / Structural testing
(B) SRUTES U801 / Behavioural testing
(C) ufcmr adi&io / Regression testing
(D) SUR1ad § %1% el / None of the above

55. g-c G180 & T fergd g H1avad SIaRes BIS &1 Fed ¢l
The overhead code required to be written for unit testing is called
(A) SIgaR / Drivers '

(B) ¥sH / Stubs
(C) Wp1PIfeET / Scaffolding
(D) Swiad § @18 T8l / None of the above

56. QiR ga-ite fo9d SM193ae gaHiel o1 snavasant -8l gl
The searching technique in which there are no unnecessary comparisons is called.
(A) a3 TffT/ Binary searching
(B) HiesfRraa Gt/ Sequential searching
(C)8RiT/ Hashing :
- (D)3Wis A &3 ol / None of these

57. VoIP @7 aref &
VolIP stands for 7
(A) SIRIFH WIS Td W 3M1aTSl / Voice over International Protocol
(B) Se¥c Ulcidld IR Sarst / Voice over Internet Protocol
(C) SfRiPH Uicisie TR dif$ar/ Video over International Protocol
(D) $e¥e Ui id W 4if&al / Video over Internet Protocol
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58. fiftrag *-+ab-cd F URelbad IHF §
The postfix equivalent of the prefix *+ab-cd is
(A)ab+cd-*
(B) abed+-*
(C)yabtcd*-
(D)abt-cd*

59, C UM & qWelddd GHIG TR TRITer SUITE o1 a1y o &7 ) Oed 97 §
What is the correct value to return to the operating system upon the successful
completion of a C program?
(M1
(B)-1
)0
(D) ®rdewH god & 9199 8! &3al/ Program does not return a value.

60. SH IS A= 0011 0101 1001 1100 HT2’s HifterHe 1 87
What is the 2’s complement of this word, A= 0011 0101 1001 1100
(A) 1100 1010 1110 0100
(B) 1100 1011 0110 0100
(C) 1100 1010 0110 0100
(D) 1100 1000 0110 0100
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TGRS G S nstractions

1. ugwm,uﬁ&n—g%ﬁ‘ﬂ%wﬁ%lmﬁqﬂ&rﬁfﬁmwﬁwmwmi

The question paper is in the form of test booklet. All candidates will be assessed on identical questions.

2. %ggﬁmﬁmm| OMR =T W TR @R o gudl &1 faRkd F=7 % foy taa dia ug< Son @[ A
!

Read the instructions on the 'OMR sheét carefully. Use only Ball Point Pen (Biack or Biue) for writing/ shading/ bubble on OMR
sheet and marking your answers.

3. aﬁ%ﬁq,vﬁmﬁ@ﬁw@@m%wmomaGﬁ?&ﬁzﬁmwmlommk%zﬂwmaﬁﬁﬁwm
o s wheni ) e

A separate OMR answer sheet with carbon impression is provided to all the candidates for answering. On compieﬁon of the
test tear the OMR Answer shest along the perforation mark at the top and handover the otiginal GMR answear sheet to the

invigilator and retain this duplicate copy with you.

4 T Rwmae var s R e iR wel o erasa 3 ael ag S ! (A), (B), (C) 3% (D) & wry fem Ry s v €
AT UF DI HL FTI ‘

Each objective question is provided with a text and/or figures wherever applicable with multiple answer choices (A), (B), (C
and (D). Only one of them is correct. .

5. i gy UHR & vl & THE wé‘rﬁlmﬁaﬂv$ﬁméﬁﬂ 3w, O T IR Y R T SR & ol T 8 1e g
Tt et 3 foT 98 SR A1 T1eTd o AT S |

All objective type questions carry equal marks of THREE for a correct answet, ZERO for no answer and MINUS ONE for wrong
answer. Multiple answers for a question will be regarded as a wrong answer. :

6. Ty oS B AR IR SR F AR WA MBI c WD Ffda Rt 7 3, By omR we W, 3 9 e R arfvand
21 0Er T F W, FOR-GIRIeT @1 Yedi el fopul S|

Question bookiets have been marked with A or B or C or P on the right hand top corner, which is mandatory to be written on
the OMR sheet in the box and bubble appropriately, failing which, the answer sheet will not be evaluated.,

7. TS U G T STl & SR F I 5 R ST R o wed &) e @ wite - fmr s

Space available in the booklet could be used for rough work, if required. No separate sheet will be provided.

8. au@gﬁsﬁammmmﬁﬁusﬁ, wheni o urf e W gt His Rigr S wtem @Y sion 7 F WE o BN
TR Bl
Before signing the attendance sheet, the candidate shoutd write the Booklet Code in the attendance sheet. Candidates should
sign against THEIR names only.

Tl & o B (1) Wie) s il wiat Hia Ae% () TF OMR IR T 3R (3) o T, Pflere 1 g S 3R R

uRfRuf A o9 ofterl gRT aree 781 « G TR
At the end of the test (1) Written test Call Letters{s) with photograph pasted on it (2) Original OMR Answer Sheet and

(3) Questicn Paper shall be retwrned to the Invigilator and shall not be carried by the candidate under any
circumstances.
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. DI T TP IO TR
An important aspect in coding is
(A) g&Haar / Readability
(B) Sdte®dl / Productivity
(C) gurIYa DI THR WY T UGN BT
To use as small memory space as possible

(D) sfafe / Brevity

. 256Kb o THRY &l 1 Iuersy R @ e fsem 32k x 1 RAM R &} sirgwaear &2
How many 32k x 1 RAM chips are needed to provide a memory capacity of 256kB?
(A)8

(B)32

(C) 64

(D) 128

. Sofiewa JgEfaR)

The data-link layer is concerned with the

(A) foe €09 ®71ef / Bit transmission function

(B) Y%e 001 BT / Packet transmission function
(C) G - Uy faed / Re-transmission delay

(D) ST &1 @aa / Encryption of data

Interprocess communication

(A) ST 3fTa=Te 81 / is never necessary

(B) wigbareli o THebTId 1 8 / allows processes to synchronize

(C) |t uichgrall o feTy srawa@ / is required for all processes

(D) &% 15 GRT WM {351 e & / is usually done via disk drives

. TS A=0011 0101 1001 1100 1 2’s Hiferie T 87

What is the 2’s complement of this word, A= 0011 0101 1001 1100
(A) 1100 1010 1110 0100 '

(B) 1100 1011 6110 0100

(C) 1100 1010 0110 0100

(D) 1100 1000 0110 0100

. B U B & 1 5 s &1 Suam o=a §2
Which command is used to print a file

(A) 0= / print

(B) ptr

(C) Ipr

(D) IWI § P15 78T / None of the above
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<tr>,<td> and <th> & G &I HeR &
Main container for <tr>,<td> and <th> is
(A)<group>

(B) <data>

(C) <table>

(Dy=t/ All of these

T 3uH fafiew B R

A good specification should be

(A) 3T / Unambiguous

(B) ¥ =Y § faFEw / Distinctly specific
(C) BT / Functional

(D) ST TS a1/ None of these

10.

11.

i o @t ur a9 wet 87
Which of the following statement is correct?
(A) TS % Bt aon & e Fforedt ® e S g |

" A constructor is called at the time of declaration of an object.
(B) U a%] 1 SUH 3 THg-uw Fmformal o gamm S g

A constructor is called at the time of use of an object.
(C) o &Y Siwon 3 Gay U Fuiorsal & gerr aarg)

A constructor is called at the time of declaration of a class.
(D) 71 % UGN S T T Fnfordmal g S g

A constructor is called at the time of use of a class.

gt ¥ ArRwR w87
In cryptography, what is cipher?
(A) T T fEfrme avH 3 srariRyA
Algorithm for performing encryption and decryption
(B) TAfhPS e/ Encrypted message
(C) (a) 71 (b) €M/ Both (a) and (b)
(D) JuRiad B B13 7181 / None of the mentioned

C T & Shaagde THIT TR TEIE JUTe B a7Tg S 9T 9 Jed w1 6

What is the correct value to return to the operating system upon the successful
completion of a C program?

(A1

(B)-1

()0 :

(D) SHT Yed I a9y 81 Pl / Program does not return a value.
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13

14,

15.

16.

Question Booklet Series - C

e P ‘£ iy § Ia BT § a9 S99 a1 Sl o 87

What is the energy possessed by.a photon while it moves with a frequency ‘f?
(A)E=f/h :
(B) E=h f

(C) E=h/f

(D) E=1/(h 1)

. Tg-arur anfdr & ferw fmfefe < ar agt 82

Which of the following is true for two-phase locking?
(A)fgcia =0T H o WIftd / Lock acquisition is the second phase

(B) diies ! ol Wl wme ifSfa fopam <1 W 8 / Locks can be acquired at any time
(C) 7w =1 H wiip T Sifeld e Sirat 8/ Locks are acquired in the first phase
(D)IWRIF © DIy 981 / None of the above

FUATATE U7 G Haex &1 SUi & R, ey STORa 1§

The most commonly used code to represent alphabets and punctuation characters is
(AYBCD '

(B) ASCII

(C)EBCDII

(D)SWRId # ¥ B8 7181 / None of the above

. The most appropriate matching for the following pairs:
X : 3UQe TaeH / Indirect addressing 1. 4/ Loop
Y : deprel et / Immediate addressing 2. uiideR / Pointers

Z : 1Y f&fortic |ate / Auto decrement addressing 3. f&Ri® / Constants

(A)X-3,Y-2, Z-1
(B)X-1,Y-3,Z2
(C)X-2,Y-3,7-1
(D)YX-3,Y-1,Z-2

/root ARAIGH T Y 1 87
By default, what is /root?
(A) ¢ BEd RREH / root file system-
(B) T goR & €19 S1svaed] / home directory of the root user
(C) Tt Sr¥aedt fore wrganied & wit Sevaed §
the directory which contains all the directories of the file system

(D) SRad AP 76T / None of the mentioned
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17. Gaitrere Qo 8 R L 3 wies | favifoa fsan s 8 ol FEA T
In a relational schema, each tuple is divided into fields called
(A) eRrE 1 Relations

(B) s/ Domains
(C) S { Queries
(D) STRIF § B 781 / None of these

18. XML 30T R &

XML uses

(A) videa Freifed €7/ User defined tags

(B) wd-fAsffea ¢/ Pre-defined tags

(C) gd-Feifea T yreitaen feifea S a1 / Both pre-defined and user-defined tags

(DY HTML ¥ Sugad fagd 271 quT 3 ot Tuaemel ol 8 1 / Bxtended tags used in
HTML and makes them powerful

19, GRfT ae-ite R erTasas qael @t saguean T8t g
The searching technique in which there are no unnecessary comparisons is called.
(A)aTE4 OfeiT / Binary searching
(B) SR ¥/ Sequential searching
(C) BT/ Hashing
(D)SRiad H ¥ 1 &l / None of these

20. YIoeaTR 3T &7 Jud TR0 $HIF 91 87
Which one is first phase of software development?
(A) TazgEdl f92d90T / Requirement analysis
(B) fewig / Design
(C) P&/ Coding
(D) Wi / Testing

21. 99 T “In —s” FHS BT ST ¢, FoafRea # 1 giar 8?2
When you use the “In —s” command, which of the following occurs?
(A) TS BTRE T JoI 81 § Sff A BTEe B g=ifell 8 -
A file is created that points to an existing file
(B) U W15T BT oI BIt & S e WBreel ) witeny grit
Afile is created that is a copy of an existing file
(C) U R § R VI W BIEe WHaRa gt gl
A file is moved from one location to another
(D) BIEe &I T i fasar o 31

A file is renamed
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22, fgfefea & & B9 5oia & sew 7@ 8e |
Which of the following is not the member of class?
(A) Wftis S / Static function
(B) B &R / Friend function
(C) RRi® &ri / Const function
(D) sy 1 / Virtual function

23. ERIT T 2479 DT RIS AT THMIS TAISL?
Find hexadecimal equivalent of decimal number 24797
(A)9AF
(B) FA9
(C)8BA
(D)98A

24. P15y Ariidsaey a o §

P-type semiconductor means
(A) AR @ siftfpar qur e saey Foyrd &

Excess of electrons and semiconductor is neutral
(B) SoaRH! ot BT gUT Y gweR e &

Shortage of electrons and semiconductor is neutral
(C) FeII B HUPpal T FHib SR HUTHT

Excess of electrons and semiconductor is negative
(D) ST Bl BH! AT FHH ST YD

Shortage of electrons and semiconductor is positive

25. ¢ % Frafiea fawo & B o wiie W 9 3 ser o afar s

What number would be shown on the screen after the following statements of C are

executed?
char ch;
int 1;
ch="'G";
i=ch-'A’;
printf("%d", i);
(A)5
(B)6
7
(D)8
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 Frufafad smar S o sTeeye T 67

What is the output of the following Java program?

class StringTest {

27.

28.

29.

public static void main(String args[])
{
String obj = "hello™;
String objl = "world";
String obj2 = "hello";.

System.out. println(obj.equals(objl) + " " + obj.equals(obj2)),

/

(A) BT Wiy / false false
(BY£% / true true

(C) B g / false true

(D) T BTy / true false

FRfED T B e §

Functional testing is known as

(A) S & / Structural testing
(B) SHERUMED TRI&0 / Behavioural testing
(C) UfoRTe T&0T / Regression testing

(D) IWRiad § &I% 7181 / None of the above

fftrag *+ab-cd & URepad GUH B

The postfix equivalent of the prefix *+ab-cd is
(A)ab+cd-*

(B) abed+-*

(C) ab+ed*-

(D)ab+-cd*

Wi wdam g1 fopa sma €|
Acceptance testing is done by

(A) ST@UY / Developers

(B) Waer / Customers

(C) uferoraat / Testers

(D) 3uliad Gaft 7 All of these

Page 7 of 14




Question Booklet Series - C

30. %ﬁaww%aﬁw

31

32.

33.

During validation

(A) ufsbar & Sife 31 S 8 7 Process is checked

(B) Sd@IE &I Sig &1 &t & / Product is checked

(C) SaaR & fAvure o7 Yedich1 fobar o § / Developer’s performance is evaluated
(D) SURed ¥ H1$ 716 / None of the above

WPA2 T} qR&M 89 & T g e 8
WPAZ2 is used for security in

(A) $3R7T / Ethernet

(B) =1y / Bluetooth

(C) 3%/ Wi-fi

(D) SWRrEd H &1E T8Y / None of the mentioned

OOPS & I Tt Hifd &1 31 ¢ W B! Hael Sfiawgs Far &1

Which of the following concepts of OOPS means exposing only necessary information to
client? :

(A) SeTPITgerg / Encryption of data

(B) Ter9EfET / Data binding

(C) Se188IEY / Data hiding

(D) SuRad ¥ #1781 / None of the mentioned

HTML dnfaiRasa &

HTML tags define ,
(A)GEISY & STTTIRY & d@l ®1/ The data types of elements of document

(B) T g&diael &1 a1y o &1 wegedlaun / Presentation of specified elements.of a
document

(C) e&1a & fawagsy s/ The contents of the document

(D) EXT3S B =/ The structure of the document

34. gfe Tdtemn & 7T forg 3 ST ollavgs SIS & HBA G

The overhead code required to be written for unit testing is called
(A) gIgdX / Drivers

(B) &€=/ Stubs

(C) WHTEIET / Scaffolding

(D) SR § w15 781 / None of the above
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35. WU ST o1 I8 Se=9 §
Software engineering primarily aims on
(A) fasa-ia a9edeR / Reliable software
(B) 91T uyrd! Gioeddr / Cost effective software
(C) Tasya=iigar ayr arTd guTdt 9redar / Reliable and cost effective software
(D) 3w H ®1% =8t / None of these '

36. $exie URL # efa S SrgA (TLD) ‘org’ @ar ufafifig oear 82
What does the term top level domain (TLD) ‘org’ represent in Internet URL?
(A) TH P13 / Profit Organization
(B) 3R @1y 776+ / Nonprofit Organization
(C) 99ar™d / Community
(D) RS T139 / Government Organization

37. Hric HISTET gl ®Ud  HEaE
By default, kernel modules are present in
(A) /lib SEXE / /lib directory
(B) /root ST8¥aeR] / /root directory
(C) /boot STE¥aet / /boot directory
(D) SWRi H B1E Tt / None of the mentioned

38. Se1 el v fagiy wiser § Fored
A data dictionary is a special file that contains
(A) 9l w18l § 94! WISt %1 A/ Names of all fields in all files
(B) 4wl H ¥t Witel & S1e1 €84 / Data types of all fields in all files
(C) wf wreal & T B! 3T 1St / Widths of all fileds in all files
(D) SwRigd It / All of these

39. VoIP &7 314 &

VolP stands for

(A) SieRTE UIEIPTd TR SfTaTs / Voice over International Protocol
(B) Sc3c Wiciwid U STarst / Voice over Internet Protocol _
(C) SieRSIT Uickpia W AfEAT/ Video over International Protocol
(D) §e3c Uicishlal WR difsal / Video over Internet Protocol

40, 9f¢ 2x + 3y =5xy, Al (dy/dx) T8
Let 2x + 3y =5xy, Find (dy/dx)
(A)(3-5x)/(5y-2)

(B) ( 2+3)/5
(C) (2-5y)/(5x-3)
(D)5/(2+3)
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42.

43.

44,

45.

46.

Question Booldet Series - C

0 Y I8 I ST TR yumel @i It g2
Which is the fastest data transfer mechanisn ?
(A) YA 1/0 / Programmed /O

(B) ¥2R¢ /O / Interrupt I/0

(C) DMA

(D) SWRied H ®Is 781 / None of these

AEHITRR F, o o3 o wraffd F=1 § &1 T ¥ Wi frar ST 8

In a microprocessor, the address of the next instruction to be executed, is stored in
(A) R® UIidiex / Stack pointer

(B) T34 71d / Address latch ,
(C) W™ P15+ / Program counter {
(D) I 35=Y IO / General purpose register -

C drnfE yrer & fafaaa & & o @ g a8t oRad= esu & 151 82

Which of the following is not a correct variable type in C programming language?
(A)ware / float

(B) fgd / real

(C)se /int

(D)Sdd/ double

TE §7YC GHM & ) B T Aiors IRuY I STSHEYE ol 67
Which logic circuit gives high output when the inputs are same?
(A) AND

(B) Ex-OR

(C) NAND

(D} Ex-NOR

O Afcem A §

Sparse matrices have

(A) 3@ T wfafdal / Many zero entries

(B) 3% 3f- wiaf®dl / Many non-zero entrics
(C) IR 3™ / Higher dimension

(D) IWRIad H ¥ BIs 761 / None of the above

s

qRdiae WY & Fau #, Te quT wifbayemitar Brard waTe Hunel &1 AT g2

What is the name of the operating system that reads and reacts/responds in terms of

-actual ime?

(A) 99 yumel! / Batch system

(B) gia wfafdsar ot / Quick response system
(C) arafa® ®Id Wumell / Real time system

(D) <1gH T wuiredl / Time sharing system
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47, it GRTETR 3 T PR ¥ & 9 o g 87

48. Fruff&a PHP $1S &1 efSeye #1 B
What will be the output of the following PHP code?

Which statement is correct about operational amplifier?

(A) TEH T §YC URRIY FUT S STSHTYS URRIY B

It has high input resistance and high output resistance

(B) 3 71 g7 wieriy qur P egede TRy 8
It has low input resistance and low output resistance

(C) 9% 3= 3qe wfaRry aur f om&heye Uiy §

It has high input resistance and low output resistance

(D) ITH g 37Uc TRy T I SMHTYE WieRTY 3

It has Iow input resistance and high output resistance

< ?php
Sa=5;
$b=35;

echo (3a ===§b);

7>

49,

A)S5===
Byl

C) Error
D) False

forer o # fowm wmEar 8
Find which word has odd parity
(A)1111 0011 0100 1101 1100

(B) 1111 0110 1101 1011 1001

(C)1110 1011 0116 1101 1000

" (D) 1110 0011 0110 1101 1000

50.

51.

FDDI &1 31 &

FDDI is

(A) fo1 9ead / Ring network
(B) ¥R ATqd / Star network
(C) B9 Fedad / Mesh network

(D) §9 $refed Jead / Bus based network

St ST T & e e S 39 e e 3 aR I el o0 i 3 2 P-aE S gua

fepar ST 87

Which of these keywords is used to refer to member of base class from a sub class in Java

programming language?
(A) 3R / upper

(B) ¥R / super
(C) & / this

(D) IwRiga § ¥ &5 el / None of the mentioned
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52. Yead 31 Mo R ¢
The physical layer of a network
(A) PR Tur §=R Ayl & g O uriva Y&l & safaeaa siftraan
Defines the electrical characteristics of signals passed between the computer and

communication devices . _
(B) 7l I aur dgig &1 8301/ Controls error detection and correction
(C) St Uet o o a3 Jeas & RUR Norr 2

Constructs packets of data and sends the across the network

(D)SWR&a ¥ IS a1 / None of these

53. SJF sieiifeym

The SJF algorithm

(Ayg ¥ 99 1 3¢ B Bl Uge P g
Executes first the job that last entered the quene

(B) 7 & 499 USH 31U B &I Ugdl Bl ¢
Executes first the job that first entered the queue

(C) oifa o1 T erazamdrsii & Iy 1 &7 9ge el g
Executes first the job with the least processor needs

(D)®LH affcr e 38 1 3T Uge HRaT g

Executes first the job that has been in the queue the longest

54, fFafafag ¥ ¥ gfada e &1 gt
Find Universal gate from below
(A)AND

(B) NAND
(C) NOT
(D) Ex-OR

55. UNIX 9= gt
UNIX operating system

(A) AfeegsR / is multiuser

(B) AfceeriRésT/ is multitasking

(C) PC a1 oS YuTTel! TR &t off §ahall § / can run on PC’s and larger system
(D) 398§/ All of these ‘

56. Frafofad & wgt = 37
Which of the following is correct? ,
(A)SQL 1 Wid: §fkiae PI 5T § / An SQL query automatically eliminates duplicates
(B) Tfe Rererm 1R 399 7¢I € O SQL &8 o Tef Ham -
An SQL query will not work if there are no indexes on the relations
(C) SQL 3t e & 1 & TRIghy &1 ogufd dar s
SQL permits attribute names to be repeated in the same relation

(D)SWRIEI # ®15 81 / None of the above
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38.

59.

60.
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RIYT-AI3S Slar (Epy & Iy Fafeled d § feam 781 a1 o Jwbar g7
Which of the following can't be done with client-side TavaSmlpt‘?
(A) T% B &7 Jeftmeur/ Validating a form _
(B) 3-0a g1 Y & fawgasg @1 UoT/ Sending a form's contents by email
(C) iR W wrH o} fyvgasg & SeEy wiga § deiia s

Storing the form's contents to a database file on the server

(D) SRad ° I P1g 81 / None of the above
TR A Save @

In a transistor emitter is

(A) s €9 forar mar / Heavily doped

(B) ®H 1Y fawar 711 / Lightly doped

(C) Sru e fawan 71 / Not doped

(D) TR =4 ¥ 819 fosar 71 / Moderately doped

WA ST e 3 § R aa 379 _ geaH ¥ oM SwnT % o srge fra e
THar gl

General purpose computers are those that can be adopted to countless uses simply by

changing its

(A) @1 &S / Keyboard

(B) 02X / Printer

(C) U / Program

(D)UeY ¥/ Display Screen

Gt SenfET Hror & Frafai@d § dy oy § Q3 b, Faior gy geem sd 82
Which will legally declare, construct, and initialize an array in Java programming
language?

(A) int myList [1= {5, 1, 9};

(B} int [} myList= {"8", "7", "1"};

(C) int [] myList = (4, 3, 2);

(D) int myList [][] = {2,1,6,0};
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g1 ORIl Test E
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TJ&dlY / Duration of Written Test 09.30Hrs to 11.00Hrs
T B GE / No. of questions . | 60
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1. U8 VYT, TOeT-gRieT H Tu A g1 vt wdulihl o wried ared! vl wE

The question paper is in the form of test booklet. Alf candidates will be assessed on identical questions.

2, %gggﬁg%ﬁamﬁﬁmujﬁuﬁm OMR e | 1 3R o7 3o 3t iR o & 1o el sl OIS e (16T O
|

Read the instructions on the OMR sheet carefully. Use only Ball Point Pen (Black or Blue) for writing/ shading/ bubble on OMR
sheet and marking your answers. .

3, Sl % fw, @t Tl @) e 3RITH % TE 3T OMR ST YT 39 s ow:m%a%sﬁﬁgnﬁwﬁﬁﬁwm
sra g e @ i e :

A separate OMR answer sheet with carbon impression is provided to all the candidates for answering. On completion of the
test tear the OMR Answer sheet along the perforation mark at the top and handover the original OMR answer sheet to the
invigilator and retain this duplicate copy with you.

4 wdF Rvaws vy R fiwy S ot o onawae 4 98T 5 IR APl (A), (B), (C) 9 (D) F Uiy R Ay s g |
99 TF &1 Fel or

Each objective question is provided with a text and/or figures wherever applicable with multiple answer choices (A}, (B,
and (D). Only one of them is ¢correct.

5. W GRS PR & e & T sie G| Tel S 3 R i i, SR 3 IR [ I el SR 3 R O o et Wi

fasdlt my & forg 9 QO &1 TTeld IR | S| zaihiaro
All objective type questions carry equal marks of THREE for a correct answer, ZERO for no answer and MINUS ONE for wrc
answer. Multipte answers for a quastion will be regarded as a wrong answer.

6. VYU B AR MR SR F FMWATB AT D R frar nar 8, B oMR e w, &t et # R aifad
21 U1 T TR TR, SO T Gedie e fepdr sgr |

Question booklets have bsen marked with A ar B or € or D on the right hand top corner, which is mandatory to be written on
the OMR sheet in the box and bubble apprapriately, faifing which, the answer sheet will not be evaluated.

7. QR U TR Bl ISl S SR =) I 3 o S e o e 31 arerT & e i fa s

Space available in the booklet could be used for rough work, if required. No saparate sheet will be provided.

8. %@%@awm&r{mﬁ%ﬁ,uﬂmﬁﬁw@ﬁ&ﬂtmmﬁgmmmﬂmﬁﬁmﬁw%mﬁmm
!

Before signing the attendance sheet, the candidate shouid write the Booklet Code in the attendance sheet. Candidates should
sign against THEIR names only.

o. wherd ofd B (1) B R RiGd wlied BT AR (2) I OMR IR e ok (3) 7y T, Frlless &1 9w &< ) fsalt o

iRy & 3 Wigndlf grt a7 & o =iRkT ‘
- At the end of the test (1) Written test Call Letters(s) with photograph pasted on it (2} Original OMR Answer Sheet and
“(3) Question Paper shall be returned to the lnvigilafor and shall not be carried by the candidate under any
circumstances.
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. FIE-Gr5S wial fpy % ary Hafafad § g g = o gear 82
Which of the following can't be done with client-side JavaScript?
(A) T% BT &1 defiw=or/ Validating a form ,
(B) 5-87 g1 B & fawaawg &1 99T/ Sending a form's contents by email
(C) TR W B $! Tavaasg &1 ST pgd § HeIla S

Storing the form's contents to a database file on the server

(D) IuRIad H § $TE A5t / None of the above

. PuE R o
Find which word has odd parity
(A)1111 0011 0100 1101 1100

(B) 1111 0110 1101 1011 1001
(C) 1110 1011 0110 1101 1000
(D) 1110 0011 0110 1101 1000

. $exe URL # €7 daa SR (TLD) ‘org’ ol wiaRfRia oxar 87
What does the term top level domain (TLD) ‘org’ represent in Internet URL?
(A) WY 187 / Profit Organization .
(B) R 914 139 / Nonprofit Organization
(C) Wi Community
(D) GXBRI 189 / Government Organization

. ffthe *+ab-cd & drefpeg gam g

The postfix equivalent of the prefix *+ab-cd is
(A)abtcd-* ‘ '

~ (B) abed+-*

(C) ab+ed*-

(D)ab+-cd*

. Fofaies § 3 o we & gy 6 82

Which of the following is not the member of class?
(A) ®fd% &/ Static function

(B) fim BRI/ Friend function

(C) feRi® $1d / Const function

(D) iryrf &R/ Virtual function

. BRI TRIE0 B HEd &

Functional testing is known as

(A) FTETHS T / Structural testing

(B) SRS T&01 / Behavioural testing
(C) Wl U187 / Regression testing

(D) IWiad H Bis el / None of the above
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O0PS ¥ i ) Ay o7 3f | Urew 3 Haw saRyS o &7

Which of the following concepts of OOPS means exposing only necessary information to
client?

(A) el & Tgere / Encryption of data

(B) Sc1aE&n / Data binding

(C) Se131=f8M / Data hiding

(D) 3uRiad # 15 781 / None of the mentioned

AHIER oM &1 T8 S5 8

Software engineering primarily aims on

(A) Taoeia 9edm? / Reliable software

(B) @rTel Tyl gueddr / Cost effective software

(C) Faspa=Tiera quT ARTT UHTd) AUEAER [ Reliable and cost effective software
(D) SwRIad & ®ig 78! / None of these

g 2x -+ Iy =5xy, o (dy/dx) SIRTC
Let 2x+ 3y =5xy, Find (dy/dx)
(A)(3-5%)/(5y-2)

B)( 2+3)/5

(C) (2-5y)/(5x-3)

- (D)5/2+3)

10.

11.

12.

¢ vt v 3 frfea § Q B ue w9 ufkad i ey o e 8

Which of the following is not a correct variable type in C programming language?
(A)TErE / float '

(B) e / real

(C)ge/int

(D)ysd@ / double

PofafEa ¥ 9 gfheda e o1 el
Find Universal gate from below
(AYAND

(B) NAND

(C) NOT

(D) Ex-OR

YT T HUIER 3 § o) dad S oo ¥ AT ST & Rig e foar s
o 6l |

General purpose computers are those that can be adopted to countless uses simply by
changing its :

(A)® a1 / Keyboard

(B) =X / Printer

(C) WU / Program

- (D)west %619 / Display Screen
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13, SifoRere Uemrr & an & Pafaf@e § § o9 o aer wd &7
Which statement is correct about operational amplifier?
(A) STH I 3T4E TRARIY T 3= e qe Uy &

It has high input resistance and high output resistance
(B) 394 1 $1ge wiadry au1 39 sirgreqe vy &

It has low input resistance and low output resistance
(C) 39 I=1 379e UioRyy 9T 47 aiigeye Uy &

1t has high input resistance and low output resistance
(D)34# 34 577ge Hfoky 3uT 9= 3frgeye ufey &

It has low input resistance and high output resistance

14. VoIP &7 erf &
VolP stands for
(A) SIRIEHT UreTdler TR 3{TaTel / Voice over Interational Protocol
(B) gexie Wéiepiel IR 3M1aTSt / Voice over Internet Protocol
(C) SfarighT ticteld w432t/ Video over International Protocol
(D) §exe UIdtsTa W dif$H) / Video over Internet Protocol

15. qHievoT & GRI
During validation
-(A) URFT1 B S 31 S & /7 Process is checked
(B) ScTE ! Si1d @1 Sl § / Product is checked
(C) STAR & Frea1e &1 Heaid=1 fosam =i 8 / Developer’s performance is evaluated
(D) SWRIa § 15 781 / None of the above '

16. P-er8y Yol gaer &t o §
P-type semiconductor means :
(A)3oacHI B sifterar quT fideser Fuud &
Excess of electrons and semiconductor is neutral
(B) Fudeial @ T quT Jfidbades a2
Shortage of electrons and semiconductor is neutral
(C) ST @ siftimdr qur Jdiegaer Bunas
Excess of electrons and semiconductor is negative
(D) AT Bl HH YT FHP IR YIETS

Shortage of electrons and semiconductor is positive

17. WPA2 BT {Ramgq ¥ Iudn far wra &
WPAZ2 is used for security in
(A) YT / Ethernet
(B) =gt / Bluetooth
(C) 3%/ Wi-fi
(D) SuRr & &5 7181 / None of the mentioned
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18. 7 ST G & O B 1 Eiores IRaY S SIHCUS & 7
Which logic circuit gives high output when the inputs are same?
(AYAND
(B) Ex-OR
(C)NAND
(D) Ex-NOR

19, SaT BT 7o W T @ ¥ 90 S Haw ¥ aR H 6 B9 8 $1 Y F1-aE 3 I
e S 87
Which of these keywords is used to refer to member of base class from a sub class in Java
programming language? '
(A) 3R [ upper
(B) R / super
(C) 1&¥ / this
(D) U & Y &1 81 / None of the mentioned

20, UNIX H=Ie Joet
UNIX operating system

(A) TfegeR / is multiuser
(B) Afceer®h / is multitasking

(C) PC T <<} JOTTelt OR =erdT Sf Webal § / can run on PC’s and larger system
(D) 3wiad a4t/ All of these

21 wrar e e A Frefi@e & S 6% | Q@ @) givon, Fmion g g edl 87
Which will legally declare, construct, and initialize an array in Java programming
language?

" (A)intmyList []1= {5, 1, 9};
(B) int [] myList = {"8",."7","1"};
(C) int [] myList = (4, 3, 2);
(D) int myList ] {]= {2,1,6,0};

22, T & EE AT ST TR Sumel &1 Y §7
Which is the fastest data transfer mechanism ?
(A) ¥rRnfHEd /O / Programmed 1/O
(B) 3¢ /O / Interrupt /O
(C) DMA
(D) IWRraa § ®1$ 78t / None of these

23. Wi Aam H ¥
Sparse matrices have

(A) 3 T WiAPHT / Many zero entries

(B) 8% -3 vfaf¥al / Many non-zero entries
(C) F=reR 34 / Higher dimension

(D)SRad H Y 5 761 / None of the above
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24, Yead BT IS WA &

The physical layer of a network
(A)Wamwmﬂ#ﬁﬁhﬁmﬁaﬂ%ﬁ%ﬁﬁewa@a&m
Defines the electrical characteristics of signals passed between the computer and

communication devices
(B) Ffe Tg= qu1 IYfE &7 F@301/ Controls error detection and correction
(C) ST Get &1 o a3 Headh & SRR U5 3

Constructs packets of data and sends the across the network

(D)IwRIe H 18 78f / None of these

25. give TRier o o fore B oawae siiaves B 3l FHEd el
The overhead code required to be written for unit testing is called
(A) SRAX/ Drivers
(B) =4 / Stubs
(C) SPIHIRET / Scaffolding
(D) SIRIad | ®1% 761 / None of the above

26. I 99g & Teuf H & 1 wfeifesanergfohar setarer e womedt &1 A &2
What is the name of the operating system that reads and reacts/responds in terms of -
actual time?

(A) 99 YOITEl / Batch system

(B) gea wfdferar yomell / Quick response system
(C) arafd® ®Tel Yol / Real time system

(D) €139 AT yurrelt / Time sharing system

27. Fefafad PHP ST &7 3fiaeye T g
What will be the output of' the following PHP code?
< ?php
Sa=35;
$b=5;
echo ($a === $b);
7>
A) 5 ===
B)y1
C) Error
D) False

28. JUIETAIE @1 YagaR b Bl quiy & o, sagaR Iuaifig @is 2
The most commonly used code to represent alphabets and punctuation characters is
{A)BCD
(B) ASCII
(CYEBCDII
(D)SWEd § A &1 781 / None of the above
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29, C T 3 Teae GHTIR TR ST HUTeH oY ST ST 3BT el e T §

What is the correct value to return to the operating system upon the successful
completion of a C program?
(Al
(B)-1
(OO0 ,
(D) @i Hed ) G199 81 eheal / Program does not return a value.

30. /root TR T T 87
By default, what is /root?
(A) ¢ HIga R / root file system '
(B) ¥¢ go % g Sigvdcdl / home directory of the root user
(C) T STevaed) e wigafiren & Wi Sl €
the directory which contains all the directories of the file system

(D) SWRia # TS 78 / None of the mentioned

31, 9 Pier f* SgRT & Te Sl § e STH Xe) Shel o 87
What is the energy possessed by a photon while it moves with a frequency *f*?
(A)E=t/h
(BYE=hf
(C) E=h/f
(D) E=1/(h f)

32, T% 3 fRftew BT =R
A good specification should be
(A) s/Efe™ / Unambiguous
(B) @¥ =u ¥ [gFdy / Distinctly specific
(C) ®fd® / Functional
(D) Swiad & &75 181 / None of these

33, Praffad § o a1 o e 87
Which of the following statement is correct?
(A) T a%g &t HoI & we Fwforesd @ gerdl S 8|
A constructor is called at the time of declaration of an object.
(B) U T T IUE Bl 999 U vl @t e e ¢
A constructor is called at the time of use of an object.
(C) = 3 iron & wHa ww Fmfored| &) gemr s 8
A constructor is called at the time of declaration of a class.
(D) T & ITNT % o Uep Fmfore gem S €1

A constructor is called at the time of use of a class.
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34, frafolad gl & fom sy wgfa sis &

The most appropriate matching for the following pairs:

X : el geire / Indirect addressing ~ 1.949/ Loop
Y : IhTe GareH / Immediate addressing 2, Ti%ex / Pointers

Z : et f&febdie dalle / Auto decrement addressing 3. f&Ri& / Constants

(A)X-3, Y-2, Z-1
(B) X-1,Y-3,7-2
(C)X-2,Y-3,Z-1
(D)X-3,Y-1,7-2

35, S 19 “In —s” PAIS T SN B4 €, Fafees & s gar 22

When you use the “In —s” command, which of the following occurs?
(A) T BT BT Yo €Il § Sff FiAH B15d 1 Qe

A file is created that points to an existing file
(B) U% WIS Yo Bl ¢ S JAH Wigd 1wk gef

A file is created that is a copy of an existing file

(C) Uo M I g ™M R B1Ed WMRT €t g1

A file is moved from one location to another
(D) BTEc BT G A 5o s g

A file is renamed

36. FEfeTge Sar YR &7 sM&eye 1 87
What is the output of the following Java program?
class StringTest { :

public static void main(String args[])

{
String obj = "hello”:
String objl = "world";
String obj2 = "hello"; |
 System.out.printin(obj.equals(objl) + " " + obj.equals(obj2));
/
g

{A) BT I / false false
(B) 5%/ true true

(C) w1 § / false true

(D) B [ true false
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37, HTML & fuiia oea €
HTML taps define

(A) TS & ST TgY & ?lc_cﬁ %!/ The data types of elements of document

(B) U@ GxTa DI ﬁﬁﬁfg Tl &1 TRI®RYl / Presentation of specified elements of a
document

(C) a%mas & fawgasg / The contents of the document

(D) g%Imast i 391 / The structure of the document

38. 31 el T fady wige & Rl
A data dictionary is a special file that contains
(A) Tt prga & Tt wiest &1 1 / Names of all fields in all files
(B) T gt # wii wiest & S1e1 €8y / Data types of all fields in all files
(C) wef T & wift wiest @1 <liers / Widths of all fileds in all files
(D) IwRrad T+ / All of these

39, citFER AQamle 3
In a transistor emitter is
(A) #if 1o fbar 7T / Heavily doped
(B) @# 39 fba1 71 / Lightly doped
(C) B9 =151 f5a1 71 / Not doped
(D) QYR =0 ¥ S frar mar / Moderately doped

40. S TS ,wﬁﬁw@r ERECR
By default, kernel mddules are present in
(A) /lib SE¥aex / /lib directory
(B) /root SE¥ae! / /root directory

(C) /boot STEXGERT / /boot directory
(D) 3T H§ &% 6! / None of the mentioned

41, THEIER AT BT JUH 0 1 1 87
Which one is first phase of software development?
(A) fra=gedl favewor / Requirement analysis
(B) f&uiEg / Design
(C) ®ifgu / Coding
(D) udiemn / Testing

42. fg-=Ror e & fory Fafafed o8 1 w81 87
Which of the following is true for two-phase locking?
(A) T wRor & & Wit/ Lock acquisition is the second phase

(B) Wi ) o) off ware aifefa faam < waball € / Locks can be acquired at any time
(C) W =Ry & @il 7 Sifofer 351 SITell 8 / Locks are acquired in the first phase
(D)IWEd B $1E 761 / None of the above
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43.

44.

45.

46,

47.

Question Booklet Series - D

C & Frafafed faovor & fraraa & arg @ R S 9 e o =it sm?
What number would be shown on the screen after the following statements of C are
executed?
char ch;
int i;
Ch - IGI;
i=ch-'A";
printf("%d", i);
(A)S5
(B)6
o7
(D)8

fopprome! § g &/ 52
In cryptography, what is cipher?
(A) TP qu TS B §g sramifeem
Algorithm for performing encryption and decryption
(B) GAlHPE W=/ Encrypted message
(C) (a) a1 (b) &/ Both (a) and (b)
(D) Judiad ¥ IS 761 / None of the mentioned

afdfr awdie R sAawad gammeil &1 siaeadmdll T8l 8

The searching technique in which there are no unnecessary comparisons is called.
(A)Srgdt Wi/ Binary searching

(B) Wi Rrga ufifir/ Sequential searching

(C) 3R/ Hashing

(D)SWRIT # ¥ B 761 / None of these

Interprocess communication

(A) Dt 3199 Hdl / is never necessary

(B) uferaral] @Y GHPIeR AT & / allows processes to synchronize

(C) Wl wigsarafi & 110 aa / is required for all processes

(D) f&% grga a1 IHRIe: fovaT ST € / is usually done via disk drives

IS T TF T8I UEL &

An important aspect in coding is

(A) UaHIadi / Readability

(B) Sa@T@axtt / Productivity

(C) TNIYT BT AER! WY BT 39N B

To use as small memory space as possible

(D)sfafe / Brevity

Page 10 of 14




Question Booklet Series -D

48. 59 TS A= 0011 0101 1001 1100 7 2’s HifRHe U §?
What is the 2°s complement of this word, A= 0011 0101 1001 1100
(A) 1100 1010 1110 0100 : :
(B) 1100 1011 6110 0100
(C) 1100 1010 0110 0100
(D) 1100 1000 0110 0100

49, <tr>,<td> and <th> ¥ fou g He-R §
Main container for <tr>,<td> and <th> is
(A)<group>
(B) <data>
(C) <table>
(D)|H1/ All of these

50. TR AT 2479 BT RIS RiFe THHIF FARL?
Find hexadecimal equivalent of decimal number 24797
(AY9AF
(BYFA9
(C)8BA
(D)98A

51. oferwma_ JEfER
The data-link layer is concerned with the -
(A) T |09 ®RF/ Bit transmission function
(B) Tc TU0 BRI / Packet transmission function
(C) G - YUNT {deid / Re-transmission delay
(D) 321 &1 @@ / Encryption of data

52, SeuTEs e A g A P B H v feoroarg o #wsa gl
In a relational schema, each tuple is divided into fields called
(A) TAIRE / Relations
(B) S84/ Domains
(C) 49/ Queries
(D) SR § ®I3 51 / None of these

53, w5 fore 3 & e forg oafs 1 Sudiv avd 87
Which command is used to print a file
(A) ¢ / print
- (B) ptr
(C) Ipr
(D) 3WRIad # ®is g1 / None of the above
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54, Wierddr gdemor ERT S g
Acceptance testing is done by
(A) ST / Developers
(B) Wl / Customers
(C) uRkerurat / Testers
(D) SuRia 9l 7 All of these

55. SIF SrniRed

The SJF algorithm

(A) T ¥ qa9 Ul ST & B U HaAl g
Executes first the job that last entered the queue

(B) T & 95 UsS 37 B BT U S o
Executes first the job that first entered the queue

(C) 3ifcT 8 Y1 sravgaarsii & 6Ty $T &1 Ugd Hal 8
Executes first the job with the least processor needs

(D) H 3ffc el 38 &1 ) ugq wear gl

Executes first the job that has been in the queue the 1dngest

56. TIIHVGER &, FTd W R SR H3 8 S 9al o dfud o Smarg
In a microprocessor, the address of the next instruction to be executed, is stored in
(A) & UIfdeR / Stack pointer '
(B) T3 & / Address latch
(C) UITH BT%H=e / Program counter
(D) M 3£%Y Woreex / General purpose register

57.256Kb % BT & BT JUTed S & o0 e 32k x 1 RAM R0 &5} sraxgear 27
How many 32k x 1 RAM chips are needed to provide a memory capacity of 256kB?
(A)8 :

(B) 32
(C) 64
(D) 128

58. FDDI &1 31 8
FDDI is
(A) f&19ead / Ring network
(B) R Agads / Star network
(C) A= 7d® / Mesh network
(D) 99 MR eads / Bus based network
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59. Frafefaa # agt s §? |
Which of the following is correct?
(A)SQL &1 Wd: giwidse ®I gerdr ®/ An SQL query automatically eliminates duplicates
(B) af2 Rer R 37 98 & o SQL &4 o e e
- An SQL query will not work if there are no indexes on the relations
(C) SQL I et & =M & grRighy 1 ofmfa Sar @
SQL permits attribute names to be repeated in the same relation

(D)3 | PIE 781 / None of the above

60. XML SO B3l &
XML uses
(A) v Fufie &7/ User defined tags
(B) qd-feffea &/ Pre-defined tags
(C) w-Fyffea 3 vaear Feffed et/ Both pre-defined and user-defined tags
(D) HTML ¥ Sugad fawga & auT 32 aif¥ie graemelt s9rar 31 / Extended tags used in
HTML and makes them powerful
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Answer key

ISRO SATELLITE CENTRE
Answer key of the written test for selection to the post of Technical Assistant
(Computer Science) held on 20-11-2016.
(Advt. No. ISAC.02:2016 — Post No :TA-03)

\ Answer Key \
\ Series A \_\ Series B \_\ Series C \ \ Series D \
Question Correct Question Correct Question Correct Question Correct

No. Option No. Option No. Option No. Option
o | B Jlot | B Lot | A Jlo | C |
0 | ¢ Jlo | b o | c J| 0 | D |
03 [ A [0 [ A | NN IR
04 | A || o4 | A || 04 | B || 04 | A |
05 | ¢ Jlos | D Jjos | ¢ J| 05 | B |
06 | ¢ JLoe | A J o | ¢ || 06 | B |
o | B o7 | B o7 | € J| 07 | C |
08 | B || o8 | D [ 08 | A || 08 | C |
00 | ¢ Lo | b Jl o | A [0 | C |
1o | B JL 10 | A J| 10 | A | 10| B |
u ¢ B JLu B jLu Jc ] B |
12 oA Jl12 | A J| 12 | B J| 12 | C |
1B | B 13 ] c LB |c B ] c |
14 | oA JL 14 | B || 14 | B || 14 ] B |
s ¢ Js ¢ jts ¢ j15 | B |
16 | A 16 | ¢ || 16 | B || 16 | B |
v | o JlLw7 | c v | B |17 ] C |
1 Jc Jl18 | c | 18 | A J| 18 ] D |
v Jc JLwy | c Ly | c [ 19 ] B |
20 | B |l 2 | B || 2 | A J| 20 | D |
21 ¢ Jlbat Joc J2t | oA J 2t | A ]
2 | A | | 22 | B || 2 | c |
23 | ¢ J23 | ¢ J| 238 | A J[ 25 | A |
24 | oA |24 | A || 24 | B || 24 | A |
25 | ¢ Jl2s | B |25 | B || 2 | C |
2 | A J| 2 | B || 2 | C || 2 | C |
27 | B Jl27 | ¢ |27 | B J| 27 ] B |
28 | oA |28 | B || 28 | A || 28 | B |
9 | ¢ |2 | ¢ || 2 | B ][ 2 | C |
DEONEN | 0 [ A [ 3 [ B || 3 [ B ]
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\ Series A \ \ Series B \ \ Series C \ \ Series D \
Question Correct Question Correct Question Correct Question Correct
No. Option No. Option No. Option No. Option
3 | B 3t | oA |3 | ¢ J| 3 | B |
32 | oc |32 | ¢ 32 | ¢ [ 32 ] A |
33 | B |3 | B || 38 | B || 38 [ A |
34 | A |34 | ¢ || 34 | ¢ || 34 | C |
33 | B L3 | A J| 35 | Cc J| 3 | A |
36 oA 36 | oA | [NECENEEN | 36 | C |
3 Joc JL37 | B |37 | A [ 3% | B |
38 | A |38 | A || 38 | D || 38 | D |
3% | B JL39 | ¢ | 3% | B |3 | A |
40 | B | 4 | B || 4 | C || 4 | A |
4 ¢ JL4 ¢ L4 | c j 4 ] A ]
42 | ¢ |4 | c || 42 | c || 4| c |
#4 | b J[ 4 | B || 48 | B || 4] B |
44 | A || 4 | D || 4 | D |J[ 4 | A |
45 | c |45 | B || 45 | A || 45 | C |
46 | c | (DECONISN | 4 | Cc || 46 | B |
v ¢ JL47 | A J| 4 | Cc | 4 | A |
4 | b || 4 | B || 4 | B || 48 | C |
% | ¢ JL49 | A | 49 | D || 49| c |
50 J ¢ J|s0o | ¢ |50 | A J| 50 | A |
BN | s [ B [ st | B | (NSNS
2 | ¢ JLs2 | oA |2 | A J| 52 | B |
3 | B |3 | ¢ || 3 | ¢ || 38 ] € |
54 | oA JLs4a | B || 4 | B || 54 | B |
55 | b s | ¢ |5 | D J| 55 | C |
56 | B || 56 | ¢ || s6 | D || 5 | C |
s7 | B ||Ls7 | B || 57 | ¢ || 57 | € |
8 | oA I8 | A || 8 | A || 58 | A |
9 | b JLse | ¢ J|9 | ¢ |5 ] D |
60 | B [ 6o | c | 60 | A || 60 | A |

Answer given in yellow colour indicate the change in answer
X - Question cancelled
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